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S1.No. | 0 22 (E)

Seat No. A:

(MARCH/APRIL 2022)
Time : 3 Hours] [Maximum Marks, : 100
Instructions :
- 1) This question paper contains Five sections and total 63 questions.
2) Answer the questions according to the instructions.
3). Figures to the right side indicate full marks for the questions.
4) Start a new section on a new page.
SECTION-A
B Select and write the correct alternative from the options given below from
3 ( questions 1 to 20. Each question carries 1 mark : [20]
1) When in a bar diagram, we get divisions in all the bars which represent a common
variable and common base value, is known as which diagram?
(A) Simple Bar Diagram (B) Clustered Bar Diagram
(C) Divided Bar Diagram (D) Frequency Polygon
2) From the below mentioned, which type is not included in graphs?
(A) Histogram (B) Frequency Curve
(C) Frequency Polygon (D) Pictogram
3) When economic development takes place in a country, contribution of which sector
as percentage of the total national income decreases?
(A) Agriculture (B) Industrial
(C) Service (D) Industrial and Service
XXR98 Page 17 (P.T.0.)



4)

)

6)

7)

8)

9)

10)

022(E)

What is the maximum value of Human Development Index (HDI)?
(A) more than 100 (B) 100

o8 all | (D) less than 100

Which type of phenomenon is inflation?
(A) Monetary (B) Social
(C) Psychological - (D) Political >

Who gave the definition, "What is accepted universally in exchange of goods or
services is money"?

(A) Pigou (B) Robertson
(C) Marshall (D) Keynes

In which year was RBI nationalized?

(A) 1949 . (B) 1969 ,
(€) 1935 (D) 1955 | b

From the below mentioned, which instrument is included in qualitative measures

of credit control?
(A) RepoRate (B) BankRate

(C) CashReserve Ratio (D) Discriminatory Interest Rate

What amount of monthly rupees are decided by Tendulkar committee in the year
2011-12 for deciding poverty line in rural areas?

(A) 816 (B) 916
(C) 1000 v (D) 2000

Which state has the lowest poverty in the year 2013 in India?

(A) Bihar (B) Chhattisgarh
(C) Maharashtra (D) Goa
Page 18



11)
12)
T
13)
£ 1
15)
5 1i6)

022(E)

Who presented four measuring rods of measuring types of unemployment?
(A) Marshall (B) RajKrishna

(C) Mahalnobis (D) Rodan

Which age group of people are included in active work force supply?

(A) 15-60 years (B) 20-60 years

(C) 15 - 64 years (D) 18- 35 years

What was India's death rate in 2011?
LAY Al B) 5.1

C€) 21.8 (D) 10.8

Which crop is included in food grains?
(A) Groundnut (B) Bajra

(C) Sugarcane (D) Cotton
From the following, which factor is included in institutional factors of agriculture?
(A) Use of Machines (B) Pesticides

(C) Rural social structure (D) Soil Testing

In today's time which factor of produs.ion is the most mobile in international trade?

(A) Capital (B) Labour
(C) Entrepreneurship (D) Land
Page 19 (P.T.O.)



17) A balance of payments has how many accounts?
A) 2 ®) 3
© 4 : D) 5

18) Railways is example of which type of industry?
(A) Public Corporation (B) Departmental Industries

(C) Joint Stock Companies (D) Joint Sector Industries .

19) Inwhich type of industry the limit of investment is upto I 25 lakh?
(A) Tiny Industry (B) Small Scale Industries
"(C) Medium Scale Industries (D) Large Scale Industries

' 20) Which age group of children are eligible for compulsory and free education
according to the Indian Constitution?

(A) 5-15years (B) 4- 14 years &
(C) 7-15years (D) 6- 14 years
SECTION-B

B All the questions from 21 - 30 should be answered in one - two sentences each.
Each question carries 1 mark : ' [10]

. 21) Statethe formula for pie diagram.
22) Who presented the concept of Physical Quality of Life Index?

e S

23) What is Reverse Repo Rate?
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24)

25)

26)

27)

28)

29)

30)

In which year Pradhan Mantri Jan Dhan Yojana started?
Explain meaning of unemployment.
In India, last population census was conducted in which year?

Give the full form of NABARD.
What is meant by direction of international trade?
KRIBHCO comes under which type of industries?

Electricity generated through coal is known by what name?

SECTION-C

Answer any twelve out of the following sixteen questions from 31 to 46 in brief.

Each question carries 2 marks : [24]

31)

32)

33)

34)

35)

022(E)

Write any four types of diagram.

Give the caution areas in using internet for studying.

Explain any two limitations of per capita income as an indicator.
State importance of Human Development Iﬁdex. (Any four points)

Discuss the function of money as a medium of exchange with help of an example.
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SECTION-D

B Answer any seven out of the following ten questions from 47 to 56 to the point.
Each question carries 3 marks : . [21]

47) State the important aspects to be considered while drawing a diagram and a graph.
' 48) Write the difference between economic growth and developrﬂent. (Any six)

49) Explain any three monetary functions of Reserve Bank of India.

50) Explain the qualitative tools of monetary policy.

51) Describe any three caﬂses of unemployment in India.

52) Give the information about Mahatma Gandhi Rural Employment Guarantee Act
[MGNREGA]..

53) Discuss the economic causes for high birth rate in India.
54) Explain any three reasons for international trade.
55) Explain any six points of difference between internal trade and international trade.

56) Write short note on the development of Indian railway.
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